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T1, Robinia (false Acacia). Fell as close to ground level as possible. The stem has historic splits and large pockets of decay. 

Decay is evident in both the main stem, between the buttresses and below the buttress roots. See additional photos below. 

Tree is heavily weighted toward the building and carparking area. 

 

T2,  Robinia (false Acacia). Reduce the crown of the two stems to the SE, of the Robinia (false Acacia) by up to 4mtrs all over> 

with the removal of T1 this work is required to reduce the wind loading on the remaining stems. 


